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Guess Paper – 2011
Class – XII
 Subject – Accountancy
Time : 3 Hours
M.M. : 80

Q.1.
How the capital fund is calculated while preparing final accounts of Not for Profit Organisation ?
(1)

Q.2.
What do you mean by fund based Accounting ?
(1)

Q.3.
What is the nature of Profit & Loss Appropriation Account ?
(1)

Q.4.
How do you calculate interest on Drawings by Indirect Method if drawings are made at the end of each half year ?
(1)

Q.5.
What will be the journal entry for treatment of General Reserve at the time of admission of partner and it was decided that general reserve account will not appear in the books of firm.
(1)

Q.6.
Sita, Gita and Meeta were partners in a firm sharing profits & losses in the ratio of 7:6:7. They decided to change their profit sharing ratio as 1:1:1. The goodwill of the firm was valued at Rs. 45,000 what would be the necessary journal entry for accounting treatment of goodwill.
(3)

Q.7.
What do you mean by Sweat equity shares and what is there lock in period.
(3)

Q.8.
Why is the premium on Issue of debentures considered a capital profit ?
(3)

Q.9.
X Ltd. purchased assets of Y Ltd. as under :



Plant and Machinery
800000



Land & Building
7200000


The purchase consideration was Rs. 78,00,000 Rs. 8,00,000 was paid by cheque, Rs. 10,00,000 by issue of Bills of Exchange for three months and remaining half by issue of 6% Debentures of Rs. 100 each at premium of 20% and other half by issue of equity shares of 10 each at a discount of 20% Journalise for the same.

(4)

Q.10.
Malika, Harvinder and Harsimrat are partners in a firm. They have omitted interest on capital @ 10% p.a. for three years ended 31st March, 2007. Their fixed capitals on which interest was to be calculated throughout were



Malika

1,00,000



Harvinder
80,000



Harsimrat
70,000


Give the necessary journal entry with working notes.

(4)

Q.11.
Kamal Ltd. decided to redeem Rs. 50,000 10% debentures. It purchased Rs. 40,000 debentures in the open market at Rs. 97 each. The expenses on purchase was Rs. 200 and redeemed the balance of Rs. 10,000 debentures by draw of Lots. Journalise.
(4)

Q.12.
(a)
On 28 Feb. 2010 Avneet Ltd. converted its Rs. 100000 9% Debentures issued at a premium of 10% into 8% preference shares of Rs. 100 each issued at a premium of 25% pass necessary journal entries on the redemption of debentures.


(b)
100 shares of Rs. 100 each issued at a discount of 10% were forfeited for non payment of allotment money of Rs. 50 per share. The final call of Rs. 20 per share were not made. The forfeited shares were reissued for Rs. 7000 fully paid up. Journalise the above in the books of Ashminder Ltd.
(6)
Q.13.
From the following receipts and payments account of G.P. Club and from the additional information. Prepare Income and Expenditure Account and Balance Sheet as at 31 Dec. 2006.

Receipts and Payments Account

for the year ending 31 Dec. 2006
	To Balance b/d
	1,90,000
	By Salaries
	3,00,000

	To Legacies
	60,000
	By Advance for Building
	4,00,000

	To subscriptions
	5,00,000
	By Tournament Expenses
	1,00,000

	To entrance fees
	1,00,000
	By Balance c/d
	90,000

	To interest on Investments @ 8% p.a. for full year
	40,000
	
	

	
	8,90,000
	
	8,90,000



Additional Information :

(1) The club had received Rs. 20000 for subscriptions in 2005 for 2006.

(2) The Land and Building in the books was Rs. 400000.
(6)

Q.14.
Lovleen, Jasneen and Kartik were sharing profits and losses in the ratio of 5:3:2 on 31 March, 2010 their Balance Sheet was as under :

	Capitals
— Lovleen
	2,00,000
	Lease hold
	3,00,000

	
— Jasneen
	3,00,000
	Investments
	2,00,000

	
— Kartik
	2,00,000
	Patents
	1,40,000

	Workmen compensation Reserve
	1,50,000
	Machinery
	1,00,000

	Employees Provident Fund
	40,000
	Stock
	1,60,000

	Bank Overdraft
	50,000
	Goodwill
	40,000

	
	9,40,000
	
	9,40,000



Kartik died on 1 Aug., 2010. It was agreed that :

(i) Joint Life Policy of Rs. 1,00,000 will realise Rs. 1,20,000.

(ii) For calculating Kartik share in profits the profits of previous year were taken into Account. The profits of previous year was Rs. 1,00,000.

(iii) Bank overdraft will be paid.

(iv) The goodwill of the firm was valued at Rs. 90,000.

Prepare Kartik’s Capital Account.
(6)

Q.15.
Guramrit Ltd. issued Rs. 10,00,000 new capital divided into shares of Rs. 10 each at a premium of Rs. 20 per share. The amount payable was as follows :



On Application
Rs. 5



On Allotment
Rs. 20  
(including premium)



On First Call
Rs. 5


Over payments on Applications were to be applied towards allotment and call. Where no allotment was made money was to be refunded in full. The issued was over subscribed by 4,50,000. The applicants of 20,000 shares were refunded and balance allotted prorata. Journalise.

(8)

Q.16.
Ravneet and Sonam are partners sharing profits and losses in the ratio of 3:1. Following was their balance sheet as at 31 Dec. 2008.

Balance Sheet

	Creditors
	3,00,000
	Cash
	1,80,000

	General Reserve
	32,000
	Bills Receivable
	24,000

	Capital
	
	Debtors
	1,28,000

	· Ravneet
	2,40,000
	Stock
	1,60,000

	· Sonam
	1,28,000
	Land & Building
	2,00,000

	
	
	Goodwill
	8,000

	
	7,00,000
	
	7,00,000



They agreed to take Sarleen into partnership on 1 Jan., 2009 on the following terms :

(i) That Sarleen pays Rs. 1,12,000 as capital for 1/5th share of profits.

(ii) That stock and furniture be reduced by 10%.

(iii) That land and building is to be appreciated upto Rs. 2,40,000.

(iv) The capital account of partners are to be adjusted on the basis of profit sharing ratio.

(v) The goodwill brought in by her Rs. 18,000.

Prepare Revaluation Account, Capital Account and Balance Sheet.

OR

Jaspreet, Tanvir and Amarjot were partners sharing 2:2:1 agreed upon the dissolution of their partnership on 30th June, 2009 on which date their Balance Sheet was as under :
	Capitals
	
	Amarjot Capital
	5,750

	· Jaspreet
	35,000
	Machinery
	20,000

	· Tanvir
	10,000
	Stock
	4,025

	Mrs. Jaspreet Loan
	4,000
	Investments
	10,415

	Creditors
	15,250
	Joint Life Policy
	7,000

	Life Policy Fund
	7,000
	Debtors

4700
	

	Investment Fluctuation Fund
	3,000
	Less Provision
  350
	4,350

	
	
	Cash at Bank
	22,710

	
	74,250
	
	74,250


Following transaction took place :

(i) The Joint Life Policy was surrendered for Rs. 7,500.

(ii) The Investment was taken over by Jaspreet for Rs. 8,750 along with Wife’s Loan.

(iii) Other Assets were realised for Rs. 60,000.

(iv) The expenses of realisation was Rs. 500.

(v) Investment worth Rs. 1,500 were not recorded in the books were taken over by creditors at this value and others were settled at Book Value.

Prepare necessary Ledger Accounts.
(8)
Section — B

Q.17.
“Cash Flow Statement discloses the movement of cash”. Explain.
(1)

Q.18.
The debt equity ratio of a company is 1:2. It was decided to purchase a fixed asset for Rs. 50,000 on long-term deferred payment basis. What would be the Debt Equity Ratio after this transaction ?

(1)

Q.19.
State whether cash deposited into bank will result in inflow, outflow or no flow of cash.
(1)

Q.20.
Name any three parties who are interested in analysis of financial statements.
(1)

Q.21.
The following are the Balance Sheet of two companies as on 31st March, 2009:

	Liabilities
	Co. A

Rs.
	Co. B

Rs.
	Assets
	Co. A

Rs.
	Co. B

Rs.

	Share Capital
	1,50,000
	1,00,000
	Fixed Assets
	1,00,000
	60,000

	Reserves
	2,00,000
	1,30,000
	Current Assets
	5,50,000
	3,00,000

	10% Loans
	1,00,000
	50,000
	
	
	

	Current Liabilities
	2,00,000
	80,000
	
	
	

	
	6,50,000
	3,60,000
	
	6,50,000
	3,60,000



You are required to prepare Common Size Balance Sheet of both the companies.
(4)

Q.22.
(a)
From the following information, calculate Net Profit Ratio and Operating Ratio :

Sales Rs. 2,00,000; Opening Stock Rs. 12,000; Purchases Rs. 1,20,000; Wages Rs. 8,000; Closing Stock Rs. 18,000; Selling & Distribution Expenses Rs. 2,000.

(b)
Shareholder’s fund Rs. 2,00,000; Long-term Debt Rs. 4,00,000; Net Fixed Assets Rs. 4,00,000; Gross Profit 20% on cost was Rs. 4,00,000. Calculate Working Capital Turnover Ratio.
(6)

Q.23.
Calculate Cash Flow from Operating Activities with the following information of X Ltd. :

	
	1st April, 2006

Rs.
	31st March, 2007

Rs.

	P&L Account
	40,000
	30,000

	Bills Receivable
	21,000
	27,000

	Rent Payable
	1,600
	4,000

	Prepaid Insurance
	2,800
	2,400

	Stock
	28,000
	36,000

	Creditors
	20,000
	30,000


X Ltd. had provided for the following items while arriving at the profit for the year :

(i) Depreciation on fixed assets Rs. 20,000.

(ii) Writing off preliminary expenses Rs. 10,000.

(iii) Loss on sale of furniture Rs. 1,000.

(iv) Profit on sale of machinery Rs. 6,000.
(6)
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